



STATISTICAL BULLETIN
OF
BANGLADESH TEA BOARD
FOR
THE MONTH
OF
NOVEMBER, 2025

**MONTHLY STATISTICAL BULLETIN FOR THE MONTH OF
NOVEMBER, 2025**

TEA PRODUCTION, SALE, MARKET PRICE AND EXPORT

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av.Price : Tk. /Kg)

ANNUAL PRODUCTION

Y E A R	2025	2024	2023
PRODUCTION TARGET	103000	108000	102000
ACHIEVEMENT*	85,706	93,042	102,918

*Figure: upto November, 2025

MONTH-WISE PRODUCTION

Month	Production 2025		Production 2024		Production 2023	
	During the month*	Up to the month*	During the month*	Up to the month*	During the month*	Up to the month*
January	309	309	175	175	364	364
February	30	339	42	218	46	410
March	1,335	1,674	1,593	1,811	2,046	2,457
April	2,253	3,927	4,882	6,693	5,107	7,563
May	8,648	12,575	4,775	11,468	8,272	15,835
June	9,825	22,400	12,837	24,305	10,716	26,551
July	13,489	35,889	11,435	35,740	13,654	40,205
August	13,601	49,490	13,806	49,546	14,489	54,695
September	11,422	60,912	12,217	61,763	14,296	68,990
October	14,626	75,538	14,923	76,686	14,593	83,583
November*	10,168	85,706	9,978	86,664	11,574	95,124
December			6,378	93,042	7,794	102,918

* Figure: November, 2025

AUCTION (AUCTION SEASON) SALE

STATEMENT OF CST & OST

(Quantity : '000' Kg)

(Value : '000' TK)

(Av. Price : Tk/Kg)

Year	OLD & CURRENT SEASON TEA						OLD & CURRENT SEASON TEA					
	(For November, 2025)						(Up to November, 2025)					
	CST		OST		Total		CST		OST		Total	
	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price
1	2	3	4	5	6	7	8	9	10	11	12	13
2025-26	8861	246	123	185	8984	246	48817	241	1914	156	50731	238
2024-25	9400	209	14	118	9414	209	54335	211	353	118	54688	210
2023-24	9,474	171	6	62	9,480	171	62,013	192	208	118	62,221	191

NOTE : CST represents current season tea & OST represents old season tea.

EXPORT & INTERNAL ACCOUNT

Year	During the month November, 2025						Up to the month November, 2025					
	Internal Account		Export Account		Total		Internal Account		Export Account		Total	
	Qty.	Value	Qty.	Value	Qty.	Value	Qty.	Value	Qty.	Value	Qty.	Value
1	2	3	4	5	6	7	8	9	10	11	12	13
2025-26	8981	2205442	3	740	8984	2206182	50417	12004429	314	32922	50731	12037351
2024-25	9414	1970862	0	0	9414	1970862	54674	11484889	14	3060	54688	11487949
2023-24	9,481	1,624,632	-	-	9,481	1624632	62,180	11892094	14	3,201	62,194	11,895,295

EXPORT BY MODE

Mode of Tea Export	Export during the Month November, 2025		Cumulative Export up to November, 2025-26		Export during the Month November, 2024		Cumulative Export up to November, 2024-25	
	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)
1	2	3	4	5	2	3	4	5
Export from Chittagong Auction Purchase	68	12717	701	146670	178	45549	995	202048
Export under Direct Negotiation	10	6555	30	19119	19	12043	249	53290
Others								
TOTAL	79	19272	731	165790	197	57592	1243	255338

COUNTRY-WISE IMPORT UPTO NOVEMBER, 2025

(Quantity : '000' Kg)

Name of the Country	During the month November, 2025					Import up to November, 2025				
	Green Tea (Qty)	Instant Tea (Qty)	Primium Tea (Qty)	Black Tea (Qty)	Total	Green Tea (Qty)	Instant Tea (Qty)	Primium Tea (Qty)	Black Tea (Qty)	Total
	1	2	3	4	1+2+3+4=5	6	7	8	9	6+7+8+9=10
Bahrain										
China										
Digibouti										
France										
Germany										
Ghana										
Greece										
India										
Iran										
Japan										
Kenya										
K.S.A.										
Kuwait										
Mauritus										
Oman										
Pakistan										
Poland										
Qatar										
Russia										
Thailand										
Turkey										
U.A.E.										
U.K.										
Ukraine										
USA										
Malawi										
Others										
Total	0	0	0	0	0	0	0	0	0	0

EX-GARDEN SALE

LOOSE TEA

(Quantity : '000'Kg)

(Value : '000'Tk)

(Av.Price : Tk. /Kg)

Month	Loose Tea					
	2025-2026		2024-2025		2023-2024	
	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price
July, 25	171	232.71	208	191.10	159	208.59
August, 25	105	203.74	183	192.28	159	193.48
September,25	207	232.98	177	199.45	195	171.91
October, 25	223	230.86	194	223.80	257	203.50
November, 25	253	232.07	257	190.96	159	206.00
December, 25			242	208.59	325	211.17
January, 26			282	186.73	225	191.05
February, 26			96	184.24	178	187.11
March, 26			17	337.79	159	162.69
April, 26			52	188.19	148	175.58
May, 26			64	186.17	141	147.36
June, 26			86	221.68	153	168.59
Total	959	228.99	1858	198.92	2258	188.59

VALUE ADDED (PACKET) TEA

Month	Value Added (Packet) Tea					
	2025-2026		2024-2025		2023-2024	
	Qty	Av. Price	Qty	Av. Price	Qty	Av. Price
July	-	-	-	-	-	-
August	-	-	-	-	-	-
September	-	-	-	-	-	-
October	-	-				
November	-	-	-	-	-	-
December	-	-	-	-	-	-
January	-	-	-	-	-	-
February	-	-	-	-	-	-
March	-	-	-	-	-	-
April	-	-				
May	-	-	-	-	-	-
June	-	-	-	-	-	-
Total						

EXPORT DURING NOVEMBER, 2025

COUNTRIES OF DESTINATION

(Quantity : '000'Kg)

(Value : '000'Tk)

(Av. Price : Tk./Kg)

Export during November, 2025						
Name of the Country	Loose Tea		Packet Tea		Total	
	Qty. (Kg)	Value (FOB) (Tk)	Qty. (Kg)	Value (FOB) (Tk)	Qty. (Kg)	Value (FOB) (Tk)
1	2	3	4	5	6	7
Afghanistan						
Bahrain			3	860	3	860
Brunai				41		41
China						
Cyprus						
France						
Germany						
Ghana						
Greece						
India						
Ireland						
Japan		478				478
Kuwait						
K.S.A			1	123	1	123
Malaysia						
Mauritus						
New Zealand						
Oman			1	472	1	472
Pakistan	59	12791			59	12791
Poland						
Portugal				229		229
Qatar						
Singapore						
Thailand						
Turkey						
U.A.E.			14	4162	14	4162
U.K				116		116
U.S.A.						
TOTAL	59	13268	19	6004	79	19272

EXPORT DURING NOVEMBER, 2024

COUNTRIES OF DESTINATION

(Quantity : '000'Kg)

(Value : '000'Tk)

(Av. Price : Tk./Kg)

Export during November, 2024						
Name of the Country	Loose Tea		Packet Tea		Total	
	Qty. (Kg)	Value (FOB) (Tk)	Qty. (Kg)	Value (FOB) (Tk)	Qty. (Kg)	Value (FOB) (Tk)
1	2	3	4	5	6	7
Afghanistan						
Bahrain			3	1198	3	1198
Brunai						
China						
Cyprus						
France						
Germany						
Ghana						
Greece						
India						
Ireland						
Japan				23		23
Kuwait						
K.S.A						
Malaysia						
Mauritus						
Oman						
Pakistan	19	12043			19	12043
Poland						
Qatar						
Solomon Islands						
Thailand						
Turkey						
U.A.E.			169	40626	169	40626
U.K						
U.S.A.			6	3701	6	3701
TOTAL	19	12043	178	45549	197	57592

COUNTRY-WISE EXPORT UPTO NOVEMBER, 2025-26 AND 2024-25

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av. Price : Tk. /Kg)

Name of the Country	Export up to November, 2025-26						Export up to November, 2024-25					
	Loose Tea		Packet Tea		Total		Loose Tea		Packet Tea		Total	
	Qty	Value	Qty	Value	Qty	Value	Qty	Value	Qty	Value	Qty	Value
Afghanistan												
Australia				29		29				138		138
Bahrain			4	1496	4	1496	3	1198		110	3	1308
Brunei				41		41				143		143
Cyprus			3	1012	3	1012			6	2549	6	2549
Canada												
China												
Denmark		405				405						
France									1	476	1	476
Hongkong												
India							200	23400			200	23400
Ireland												
Japan			7	4623	7	4623				23		23
Kazakhstan												
Kenya												
K.S.A.			1	123	1	123						
Kuwait			1	313	1	313			22	8366	22	8366
Lebanon												
Mauritus										67		67
Malaysia			2	2183	2	2183						
Newzeland									0	317	0	317
Oman			9	4501	9	4501			11	4927	11	4927
Pakistan	432	80269			432	80269	437	71300			437	71300
Poland												
Portugal				229		229						
Qatar			3	1636	3	1636			1	436	1	436
Russia												
Singapore				30		30			1	520	1	520
Thailand												
Turkey												
U.A.E.			263	64834	263	64834			553	136897	553	136897
U.K.				116		116						
Ukraine												
USA			7	3950	7	3950			8	4472	8	4472
others												
Total	433	80674	299	85116	731	165790	639	95898	604	159440	1243	255338

EXPORTERS & EXPORT
DURING AND UPTO NOVEMBER, 2025

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av. Price : Tk./Kg)

Name of the Exporters	Export During the month November, 2025						Cumulative export up to the month					
	Loose Tea		Packet Tea		Total		Loose Tea		Packet Tea		Total	
	Qty	Value (Tk)	Qty	Value (Tk)	Qty	Value (Tk)	Qty	Value (Tk)	Qty	Value (Tk)	Qty	Value (Tk)
		(FOB)		(FOB)		(FOB)		(FOB)		(FOB)		(FOB)
1	2	3	4	5	6	7	8	9	10	11	12	13
A.Kabir Ltd												
Abul Khair Consumer Products Ltd.									230	55616	230	55616
Ahmad Trading												
Arif Tea Company Ltd.												
City Tea Estate LTD.			9	2731	9	2731			39	13453	39	13453
DuncanBrothers(BD) Ltd												
EliteInternational Ltd												
Haldavelly Tea Co. Ltd												
Imperial Ventures Ltd.												
Ispahani Food Ltd.				116		116			7	4880	7	4880
Ispahani Tea Ltd.									13	7532	13	7532
James Finlay P.L.C.												
Kazi & Kazi T.E Ltd		478				478	1	882			1	882
M M Tea Estate Ltd.												
Meghna Tea co. Ltd			10	3157	10	3157			10	3157	10	3157
National Tea Company												
Orion Tea Co.Ltd												
Shaw Wallace (BD) Limited												
Tetly (ACI) BD. Ltd												
The Consolidated Tea & Lands Co.	59	12791			59	12791	432	80269			432	80269
Unilever (BD) Ltd.												
Vivid Venture												
TOTAL	59	13268	19	6004	79	19272	433	81151	298	84638	731	165790

COUNTRY-WISE EXPORT FOR 2025-26 AND 2024-2025

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av. Price : Tk. /Kg)

Name of the Country	Export for the year, 2025-2026						Export for the year, 2024-2025					
	Loose Tea		Packet Tea		Total		Loose Tea		Packet Tea		Total	
	Qty	Value	Qty	Value	Qty	Value	Qty	Value	Qty	Value	Qty	Value
Afghanistan												
Australia				29		29			1	387	1	387
Bahrain			4	1496	4	1496	3	1198	3	1070	6	2268
Brunei				41		41			2	1310	2	1310
Cyprus			3	1012	3	1012			9	3754	9	3754
Denmark		405				405	1	456			1	456
Finland									1	640	1	640
France									1	476	1	476
Hongkong												
Italy												
India							200	23400			200	23400
Iran												
Ireland									1	295	1	295
Japan			7	4623	7	4623	2	1345	3	1924	5	3269
Kazakhstan							44	5893			44	5893
Kenya												
K.S.A.			1	123	1	123			1	702	1	702
Kuwait			1	313	1	313			22	8366	22	8366
Lebanon									2	806	2	806
Mauritius										67		67
Malaysia			2	2183	2	2183			5	3690	5	3690
New Zealand										317		317
Oman			9	4501	9	4501			11	4927	11	4927
Pakistan	432	80269			432	80269	621	109303			621	109303
Poland												
Portugal				229		229						
Russia							25	4037			25	4037
Singapore				30		30			1	878	1	878
South Korea												
Spain										185		185
Qatar			3	1636	3	1636			21	8670	21	8670
Sri Lanka												
U.A.E.			263	64834	263	64834			946	233518	946	233518
U.K.				116		116				48		48
Ukraine												
USA			7	3950	7	3950			15	8718	15	8718
Vietnam							44	7135			44	7135
Total	433	80674	299	85116	731	165790	939	152768	1045	280750	1984	433518

EXPORTERS & EXPORT FOR 2025-26 AND 2024-25

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av. Price : Tk. /Kg)

Name of the Exporters	Export For the year 2025-26						Export For the year 2024-25					
	Loose Tea		Packet Tea		Total		Loose Tea		Packet Tea		Total	
	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)	Qty	Value (FOB)
Abul Khair Consumer Products Ltd			230	55616	230	55616			869	209634	869	209634
A.Kabir Ltd												
Arif Tea Company Ltd.									35	13141	35	13141
The Consolidated Tea & Lands	432	80269			432	80269	621	109303			621	109303
Imperial Ventures Ltd.												
Ispahani Food Ltd.			7	4880	7	4880			35	19286	35	19286
Ispahani Tea Ltd.			13	7532	13	7532			20	11645	20	11645
National Tea Company							200	23400			200	23400
Unilever (BD) Ltd.												
Kazi & Kazi T.E Ltd	1	882			1	882	2	1801			2	1801
Meghna Tea co. Ltd			10	3157	10	3157			1	162	1	162
M M Tea Estate Ltd.												
City Tea Estate LTD.			39	13453	39	13453			88	28079	88	28079
Vivid Venture							113	17065			113	17065
T O T A L	433	81151	298	84638	731	165790	936	151570	1048	281948	1984	433518

ANNUAL EXPORT

(Quantity : '000' Kg)

(Value : 'US \$')

(Av. Price : ' US \$/ Kg')

Financial Year (July -June)	LOOSE TEA			VALUE ADDED TEA			TOTAL		
	QTY	AV.PRI CE PER KG.(US D \$)	VALUE (IN THOUSAN D USD \$)	QTY	AV.PRIC E PER KG.(USD \$)	VALUE (IN THOUSAN D USD \$)	QTY	AV.PRICE PER KG.(USD \$)	VALUE (IN THOUSAN D USD \$)
2001-02	13,150	1.17	15,402	652	1.63	1,066	13,802	1.19	16,468
2002-03	11,193	1.19	13,270	973	1.84	1,792	12,166	1.24	15,062
2003-04	12,023	1.2	14,471	437	2.22	968	12,460	1.24	15,439
2004-05	12,019	1.24	14,844	337	2.15	725	12,356	1.26	15,569
2005-06	8,637	1.25	10,827	385	2.13	822	9,022	1.29	11,649
2006-07	4,350	1.18	5,115	478	2.3	1,101	4,828	1.29	6,216
2007-08	10,299	1.3	13,350	499	2.37	1,183	10,798	1.35	14,533
2008-09	5,822	1.87	10,871	329	2.59	852	6,151	1.91	11,723
2009-10	1,777	2.18	3,879	300	3.02	906	2,077	2.30	4,785
2010-11	963	1.88	1,827	197	3.77	742	1,160	2.21	2,569
2011-12	1,495	1.61	2,414	116	3.44	399	1,611	1.75	2,813
2012-13	620	2.24	1,388	232	2.84	658	852	2.40	2,046
2013 - 14	1,542	1.37	2,113	224	3.37	754	1,766	1.62	2,867
2014 -15	1,334	1.41	1,892	79	3.33	263	1,413	1.53	2,155
2015-16	38	3.71	141	438	3.24	1419	476	3.28	1560
2016-17	2164	1.70	3688	156	3.21	501	2,320	1.81	4189
2017-18	279	2.11	589	501	3.38	1691	780	2.92	2280
2018-19	0	0	0	636	3.87	2461	636	3.87	2461
2019-20	266	1.22	325	870	2.90	2522	1136	2.51	2847
2020-21	518	2.04	1056	725	2.71	1967	1243	2.43	3023
2021-22	78	5.02	390	562	2.79	1566	639	3.06	1956
2022-23	138	2.93	405	711	2.17	1543	849	2.29	1948
2023-24	839	1.39	1168	965	2.13	2053	1804	1.79	3220
2024-25	936	1.34	1255	1048	2.22	2325	1984	1.80	3580
2025-26*	433	1.54	665	298	2.33	694	731	1.86	1359

**up to
November,2025**

INTERNAL CONSUMPTION

(Quantity : '000' Kg)

(Value : '000' Tk)

(Av. Price : Tk./Kg)

Financial Year	INTERNAL ACCOUNT.		TRANSFER FROM EXPORT ACCOUNT.		EX-GARDEN SALE		TOTAL INTERNAL ACCOUNT.	
	QTY	AV.PRICE	QTY	AV.PRICE	QTY	AV.PRICE	QTY	AV.PRICE
(July - June)								
2001-02	24,113	56.25	13,165	58.12	3,163	59.35	40,441	57.1
2002-03	22,246	66.82	13,010	67.18	4,551	57.66	39,807	65.89
2003-04	24,152	61.2	12,035	65.8	2,027	61.84	38,214	62.68
2004-05	21,957	67.86	13,979	72.6	7,316	62.29	43,252	68.45
2005-06	21,987	77.95	16,890	79.75	3,674	72.88	42,551	78.23
2006-07	32,900	91.73	7,318	91.89	1,558	98.67	41,776	92.02
2007-08	42,816	90.69	-	-	5,449	98.57	48,265	91.58
2008-09	48,943	122.44	-	-	1,868	106.15	50,811	121.84
2009-10	53,281	154.71	-	-	1,783	133.42	55,064	154.02
2010-11	54,040	180.7	-	-	1,914	159.74	55,954	179.98
2011-12	52,054	165.04	-	-	2,204	167.52	54,258	165.14
2012-13	55,013	229.56	-	-	1,788	187.7	56,801	228.24
2013 -14	58,101	184.84	-	-	1,807	195.39	59,908	185.16
2014 -15	63,545	178.26	-	-	1,859	166.87	65,404	177.94
2015-16	65,243	190.99	-	-	1,788	169.81	67,031	190.40
2016-17	70,980	190.33	-	-	1367	167.05	72,347	189.89
2017-18	77,472	207.56	-	-	1246	162.45	78,718	206.85
2018-19	78,860	297.54	-	-	877	178.78	79,737	296.23
2019-20	85,382	169.01	-	-	1253	179.44	86,635	169.16
2020-21	85,065	191.98	-	-	2287	191.67	87,352	191.97
2021-22	90,255	191.12	-	-	3049	220.96	93,304	192.10
2022-23	86,283	171.79	-	-	2173	219.45	88,456	172.96
2023-24	89,824	176.35	-	-	2258	188.59	92,082	176.65
2024-25	89,448	204.39			1858	198.92	91,306	204.28
*2025-26	48,906	242.86			959	228.99	49,865	242.59

***Figure up to November, 2025**